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2ol 2 ZAES (SH9 H2)
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01 AlZHI 30,000 0 30,000
OLNE=T-E Ald == 30,000
OFE =+ SAt & 2=J| €X 20,000
o8+ =58 =83 Uil 10,000
dEFH HZES 320,645 288,861 31,784
= 41,800
= 49,890
o 228,955
SsHII= = - Xeldl XA 122,500 84,250 38,250
== 36,750
o 85,750
201 er=3| 122,500 84,250 38,250
& 36,750
T 85,750
01 AFR2telHl 122,500 84,250 38,250
OgsHII=Z +=H XMclA 122,500
= 36,750
= 85,750
ST ¥ 2 20,000 25,000 /5,000
301 EtE N = 20,000 25,000 /5,000
4 IIEt2d=s 20,000 25,000 /5,000
Ostdal 2eles N
5,000,000& 42| 20,000
=28 MJ| =H 73,488 106,111 A32,623
101 e124d| 68,288 100,411 A32,123
M ORNZZ2NSE S 68,288 100,411 A32,123
OZ2el22I0t 22& 22y 68,2838
OJlZ=s 2,096,270 «12& »2H 50,311
Ouxt=g 80,2402 x 112 »2E 1,766
OA2I22+E
10,0303 *1.5+5A] 2H52F=+2H 7,824
o4tiEg= 59,899, 1602 *13% 7,787
OgrdeEAze|HI (et &H], Al §)
200,000 3 600
301 EtE2 NS 1,500 2,000 A500
11 #AIAHIXIE S 1,500 2,000 A500
OXALZS AL HHIXIE 1,500
307 212+01& 3,700 3,700
02 LB HANHEE 3,700 3,700
ONAESSLAY NGZH3| K& 3,700
SZEMHHIY =HEa= X 24,000 24,000 0
4,800
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8,340
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7,440
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900
2,100
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15,857

STl
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01 At2teltl 405,400 384,200 21,200
Os% - D4 ZAA2AH 28k el (20254
C=2) 403,400
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OHJI= 28| 2Jhtd E9H| 2,000
308 XXM SOIA 1,233,440 1,114,130 119,310
07 AX L FE= 1,233,440 1,114,130 119,310
S0 - DA BOAUAME NEHHLEE
ANEH 223 (20BEEE) 104,550
Osg - N4 ZAA2AANE 2 22202
SHER) 930,400
OSE - nd FAAL2AIE HIAK HMldl 2
8= 99,370
OSY - D& BALAUNE ELHEATY
=83 6,670
O8Y - D& FALAAL HIISH2RE
= 92,450
OHEIAlE 2l 530,889 565,451 A34,562
101 e124d| 13,534 13,111 423
04 J12tHIZ2 2 Xt 13,534 13,111 423
Od&HII=SH Ol =g el 2|
167,0812 32 +32]*x9d 13,534
201 Ler23| 379,355 412,340 A32,985
01 At2teltl 149,355 167,340 17,985
Odgt+=H| 13,500
(©f=gas] 9,000 «45 2 +3&H 1,215
OHII=HE& S 95,700
otd & = 78,540
—=241| 935,000 «7 L+ 123 78,540
O=EM 28t 17,160
—=4| 770,000 x 1€+ 128 9,240
—g= 660,000& x 1€+ 12& 7,920
OUHEAIE D= i=pal
320,000 122 3,840
OUAIE FINIZBA A2 (1ST0HE
) 4,700
OlEAE E trr2(22uE
OHE &) 3,000,000 *49H 2 12,000
OoAESE g | CHet 10,000
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OAE&EHl FX8I 40,000
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OMEd Az Z4=2 s +
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OFEFXCE 2EYE 7Y 9,500
Oblet= 5002/%10,000kg 5,000
OZe St =20I=(PAC)
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O HSEA 5,500 »600kg 3,300
OYSaEH 20,0002 %350 £ 7,000
401 Al HIZ 2018 118,000 120,000 22,000
01 Al&HI 118,000 120,000 A2,000
OANESEdEE o0/ 2B TA 100,000
OUEAIE =i 18,000
MeSHEAL2e 270,635 276,023 N5,388
101 ©1AH| 189,835 186,223 3,612
M IRNZZ2NSE S 189,835 186,223 3,612
OXMgD| 2eldg 22X+ 2| 127,356
oJlzs 2,006,270 11.58 x4H 9%,429
Odxt=& 80,2403 x 112 %4 3,531
OAle22+E
10,0303 *1.5+4A| 2H50F=+4SH 12,036
O4liEs= 111,994,980 *13% 14,560
OgrdeEA e H (&Y, Al 8)
200,000 x4 800
OMEESE dE HAIIZZX} Q12| 62,479
OoJlzs 80,2402 x32 *x355=+5H 42,126
O=Fxt=g 48,1503 x355=+6H 8,427
ORs7d=sg 48,1502 x02 64 2,167
Odxt=& 48,1502 x7 2 +64H 1,686
(OZIN L-=h= Y= 54,404,250 *13% 7,073
OetagAze (™A, d&Hl 8)
200,000 54 1,000
201 Ler23 | 60,800 69,800 29,000
01 At2teltl 13,800 14,800 21,000
OoNgESHEHEY Jl=2+3H] 6,000
oot 7 6,5002 %1, 20004 7,800
02 S3=gHl 47,000 55,000 28,000
o0sE2= & HA 40,000
(©Jul=d:] 7,000
401 Al HIZL 201 20,000 20,000 0
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 20,000 20,000 0
ONMESHEANE = 20,000
g &=E atZ2c] 221,000 171,000 50,000
203 HR=4Y] 1,000 1,000 0
03 A=A PR FA| 1,000 1,000 0
OME =HXH DAL ER
20,000 * 102 #52 1,000
307 212+01& 50,000 50,000
0122 & 3=l 50,000 50,000
O =X ABZ
500,000 100 50,000
401 AlEHIZ 201 50,000 50,000
01 A&l 50,000 50,000
OWI0IS B4t YT ABBM 50,000
402 2I2FX=01 & 120,000 170,000 /50,000
01 QI XHE AL E R (KM TH) 120,000 170,000 /50,000
Olfgd =Y Fe=JA A 120,000
ouetots a2 & 0=t 2+ S 50,000
OEX0ts HEZEX & 242 S 50,000
O=+E0ENA 0 Y 2+ € IS5+ 20,000
Vg@ dSNASHEH HE A 363,000 0 363,000
Il 109,000
= 76,000
= 178,000
401 Al HIZ S 0HbI 363,000 0 363,000
) 109,000
< 76,000
s 178,000
01 Al&H| 363,000 0 363,000
LYz HEN+HH A Jl2 & &
Al Z3H Y 363,000
Jl 109,000
[ 76,000
T 178,000
HM2AZHI(2FM) 89,320 95,912 26,592
Jl2Zgl(sd ) 89,320 95,912 6,592
HYF=Z B 7,140 7,200 260
203 =4l 7,140 7,200 260
M FA2HHIFII 7,140 7,200 260
ORNSHERF=AHI
595,000 122 7,140
ot2 | 25,924 24,392 1,532
201 er23 | 25,924 24,392 1,532




SN &2
M HARAZH|(SF)
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oget=ZH| 17,100
(©F=Els] 9,000 x26EH *34!x 12 8,424
02 S3=2gl 400 400 0
ORMZ2E Jl=8E88= 400
01 56,256 64,320 A8,064
202 044l 56,256 64,320 28,064
01 =LHO LI 24,000 24,000 0
O=3U0bl 24,000
02 X0 32,256 40,320 8,064
OF N0l 240,0003 x 122« 14 +80% 32,256
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